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6) For each of the circuits shown below, plot Ix
as Vx varies from 0-3V.
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k = 1,C,, = 100 pA/VZ, (W/L) = 10, V;=0.7 V

Circuits for Problem 6

7) For the circuit (a) shown below, determine
the minimum value of I required to make the
MOSFET operate at the edge of the active
region. In the circuit (b) shown below,
determine the incremental voltage v, in terms of
the incremental current i, assuming the device
is in saturation. How will you choose R to make
v, independent of i?
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k= t,Cox = 100 pA/V?, (W/L) =10, V4 =07 V

Circuit for Problem 7

8) For the circuit shown below, sketch I, as V,
varies in the range 0-3V.
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k = 100 pA/V2, (W/L) = 10, Vo= 0.7 V

Circuit for Problem 8

9) For the circuit shown below, determine the
region of operation of the transistor. Find V..
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k=100 pA/V?, (W/L) =10, V;=0.7 V
Circuit for Problem 9



